
百の位までのがい数にして計算しましょう。

7969 ー 2058 6276 ー 5354

8049 ー 2277 9834 ー 5613

千の位までのがい数にして計算しましょう。

33150 ー 24838 56452 ー 46081

60492 ー 41827 45180 ー 15643

一万の位までのがい数にして計算しましょう。

889000 ー 661827 461956 ー 390294

921736 ー 187162 992353 ー 538191
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百の位までのがい数にして計算しましょう。

7969 ー 2058 = 6276 ー 5354 =

8000 ー 2100 = 5900 6300 ー 5400 = 900

8049 ー 2277 = 9834 ー 5613 =

8000 ー 2300 = 5700 9800 ー 5600 = 4200

千の位までのがい数にして計算しましょう。

33150 ー 24838 = 56452 ー 46081 =

33000 ー 25000 = 8000 56000 ー 46000 = 10000

60492 ー 41827 = 45180 ー 15643 =

60000 ー 42000 = 18000 45000 ー 16000 = 29000

一万の位までのがい数にして計算しましょう。

889000 ー 661827 = 461956 ー 390294 =

890000 ー 660000 = 230000 460000 ー 390000 = 70000

921736 ー 187162 = 992353 ー 538191 =

920000 ー 190000 = 730000 990000 ー 540000 = 450000

がい数小4
ひきざん

5 こ た え
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